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Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings
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1. f(x)=x>=27 forall values of x
g(x) = x> =25 for all values of x

h(x) =x>-3x+4

(a) Work out the value of f(5)

[G)-5-a7

(b) Work out the value of A(—2)

-2)s (2)"-3() +y
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(d) Work out the value of x, such that g(x) = 11

x " -25 s ]
(s 36
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(e) Work out the value of x, such that z(x) = 14
1 -3+ b=l
Lt -3+ 10z=0

(Z~s’ ) 11"2)‘0

2/'25- s i:'l ......................... (3)

(f) Work out the value of x, such that g(x) = h(x)

gt TE = V-5l +Y
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=
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2. f(x) =sinx for all values of x
g(x) = cosx for all values of x

(a) Calculate the value of f(630°)

Sin /3’0’ 2

(b) Calculate the value of g(—90°)

[as(”’/'()")
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3. f(x)=2x-7 forallvalues of x

Solve f(x*) =x —1

4.  f(x) =&+ T)(x —3q) forall values of x
g(x) = 2x% — 6x =30 for all values of x
(@) Given f(0) = —42

Show that g =2

(0% %)(0-34) = -41

w o G
,z/?_ 4
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(b) Solve f(x) = g(x)
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5. f(x) =4x*—x? forallvalues of x
Show that f(5x) = ax?(bx — 1)(bx + 1) where a and b are integers.
ENE 4/51) ik
g 1‘5@(};{, - 9\7%1
> fu’zl[iooix - )
= zt:,u”t[,ozmi)/;oz 1/)
N - o (3)
6. f(x) 8x —7
Find f~1(x)
y > Ex -7
(4/+7 - 4%
L7 o A+ 7
o s - 7
7 fol =
o o @
_ 2-3x
% g = 4 22 1 - 47
Find g~1(x) 2y & Q(/.; -18
a- 31 - C’v "/g
y: 5 —y % ’(/;:;A
Z~ 39t —
e = i =
’ 7 . %7 ! % L ¥-f
= l; — =
Z-32% 19 %y 97 NI
7 3 (2
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8 fx)=x+7
gx) =4x -1

h(x) =x%2-=2
(@) Find gf(x)

y[(r+?) -

by +14 - |

(b) Find hh(x)

/)['iz)l* 7
(z‘—z)/zkl) ~Z

;sz N 4‘ZL .]—[{ - 7
(c) Work out the value of fh(—3)
/[¢§/~ /_gji—i: ?

Fl?): 7 +7
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9. f(=x+3
g(0) = x2 =25 (x+3)2%-25=0

Solve gf(x) =0

X2+6x+9-25=0
X2+06x-16=0
(x+8)(x-2)=0

X=-8 or x=2

.............................

10 f(0) = kx+7
g(x) = 3x -2
Given that gf(1) = 34
Find the value of k
f01): k+7
9(t+7) : +7) -2

= 3y 7 -2
= 3L F/P

20+ )9 = 3¢
=15
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11.  f(x) =——  for all positive values of x
x+4

Work out f(x +2) + f(x + 1)

Give your answer as a single fraction in its simplest form.

o 4
— el {x +33

(L+ )+ T )

1J

[7&/]/)/"7)
LIS
B2

}[,ﬁ?} 4 3[7L+é)
(1))

204 15 ¥ By 22 /18
(A+4)(X+5)

3 —x2
for all values of x

12, fx)=

Solve f(10x) = -7

3-(10x)"

= -7
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138. f(x)=x%+5

gx) =x—8

Solve fg(x) = gf(x)

[7[’??)1%5— - A +5-7

7(7«_//1.}’/‘;‘.#‘7":1 -3

2 -z v df = XT3
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14, f(x)=x>-2x
Solve f(3x)—f(x—1)=4

Give your answers to 2 decimal places

(2]t -(32) ‘//z--,)i ~z[z»/)) .

2" - b7 '—/xl—zzu = TX +1) < 4
7712'5)(‘/7(1_4)[%3):4/

g)[ll '41 =‘3 Y [[

Z’ZL-ZZ - =20
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